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Ans.

Sol.

Ans.

Sl

PART : PHYSICS

Exceas prassune insde bubble A 5 hal ol that of bdble B hind ratio of voliens of bubble A o ubble B
1B (2} 4 i) 27 (4} 16
1)

BHubitle & =]

we ko et AP = 2= A

|

The ratio ol inlersties ol bwo cobarani =1 09, The ralio ol the msagimune i 1he mammum inkenssties g
(1a: {2316 . 1 I3E 1 (8} 459

@) |
b Wi 1T (103F 16
I—|1| I:I.IIE = IJI.LTF i = E_F |
|

fe 4
I

A magnetic dipale exparience 3 longue of BIWINM when placed in uniloam magnete ek in sush & way
Hhaat dipobs moment rakes an angle ol B07 with magnete lisld. The potential eneray al the dipobs < 7

1) 80 T (3} =TD () - B0.]
{4)
Ol
T:HxH
r = MBsin = 8043 (1}
U = -ME
U = ~ MBoas)
U= _ﬂﬂ:ﬁﬂllms‘"
=]
L'——E‘:I-LIEIIIE-IH
%Iyl
80,3
T
q_l__.E.D"'IH. = .E:"'"S
tan &0 J3
U=-BD.
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4. hdath the coloum

& B

{a) Boltamanm's constani {i] ML T K

b costlicient ol wiEscosily fiij ML-'T-1

1] plan corsianm [y MLET=T

{d} Thesmal Conducivly fiw} BALT-¥"

1) afi, bl o, div) (2 afi), b, efii) div) (3% aliii, bl off) div) (4) aril, b, e, div)
Ans. (1)
=al. ia) PY = HHJ

LT

Ko o = MLT

ib) F = BExj

S L e

The conrec] ruth Batle lar the gives Sincst will bé-

A | B aubpul A Eil'.lu[FlLﬂ_ A | B | oulpan A B J'.'-u!lpull
L5 TR ) 1A L Sy 1 otz IR
(0] 1 i2p1ojtr| o0 (3011 1 | di1a]1 !]J
t|o] o ACIEE ilol o | T.D.._-J|
111 0 111 1 111 g | 1)1 1
Ans. (2}

A Chulpul = AA + B)
-AALAB
B -AsAB

= AT LB = A1
=- A

Thie carrad] il Eable will bs

A 1B |‘.'-L-a|.|ulI

oo a |

a1 J |

1]o] 7 |

il 1
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E. I 1he resanance experirment, iwo ar colurmn's clased &l ons end ol 100 an and 120 cm akong, gven 15
beats par sechnd whes aach one = sounding in the respachive lundam enlal nodes. T welosily of Sound
ifnthe air cokumn iz

(1% 320 s 124 340 rivis {3) 360 s {4} SRO s
aAns. (3)
Sal.
100 om 120 e
e e
4L, 4L,
h-L=15
LA o
aL, 4L,
vyl 1 =1
Sl et e T
4L i
W 1 - ~ED
11 1=
0.2
W e e
1.2
Y = 60 mSAE
7. b & e of relractive indea 2 the requency of Bght 25« 10M Hz, ®e wavalength af (he Bght =
113 200 M (25 300 ren {5y 500 nm 144 B0
aAns. {2
Sal.  V=ub
a L")
o = —
Li
gl 3= 10"
Mm: 2% 5x10""
3 100
e
10 10™
R, B T
o= 300 L
IJI
B. |} range 15 e mes of mEcirEm I'&ighli 1K anse Wl A= -E w L owdloe of Kowilk e
112 {2y 24 (5} 36 {4} 40
Ans. 02

Resonance Eduventures Lid.
Reg. Office & Corpe Office @ CG Tower, &-d6 & 52 1P1A, Near City Wall, lhalawar Foad. Kota (Rap] - 324005
P Mo +91- 78800 FF T SFFVR | FAN Mo @ =00 {5Fe- e e
ToKnow st ¢ avs BESD arSeErT | Wietsi | e feionarasd 30 || E-imiadl & ool rsohnantie e i | CIN @ USSR P00 T AUl sdrs
Tell Frem ; TR0 2568 5555 19 7040040333 Hrm--r*-ln i Dﬂ'-rr-ﬂ'n—'n rhi E_ﬂ-ﬂ..l.lt: T E""-!'nlﬂ"!ﬂﬂ

This solution was download from Rescnamce JEE|{Maing 2025 Solubion portad PAGE A& X




- HESD0E0CE" | JEEMain) 2025 | DATE : 03.04-3025 [SHIFT-2) | PAPER-1 | MEMORY BASED | FHYSICS

Bol. M =3H
H tan® 4 4
e I e ".Lﬂrf:l-—
A 4 3 3
R W =2sinlcosh 2 - 4 3
0 a 2B
K =24
o,
K = 00, find maimum COmgression in Speang.
1) 0.4 emi {23 0.2 em 5 0.1 em {4} 0.6 em
Ans. {3
B
Sol. S K«'- Epu‘,,
T T L

1
= =g = 0T S
ST

10. ¥ = Jlﬂ- il percantans emvor are respeciively pg.r and s are 1,2,3 and 2. Find percentage emor in 2.
(J)s
1) 10% (23 15% {3 BR () 4%
Bns. {2

1
Sol.  %& = %p s 2(%) + I 1) + S{%s)

-1.2,24313.%,2

= 15%.

11. Digplacemant {5} = (1" - 2] « &1 = 2§ initizd velocity and acceleration will be
1V = sl {2) 8 = 2tz & 2 (3] & = 20 {4V =g
Ans. {2
S0, Weon«2feo w32
=0
Vo i
8= 2ing 28

[
12 The radio of widih al The =lig s 4 1 0 YDSE. hen the st of {“ 'il"' waill D -

=T

1 = 2

& |
1 1

i 18
(] = 4] - k|
Ans.  {2)
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Sol. I =4l = Ay = 28
b=l o3 Ar =
WMol sA+A 3
gl 2ZA-A 1

|:||n|m" i 3.|2 £
I;I“:-llm. L5

13. A bl caled 100 W 230 W connecled 1o &8s supgly of 220 V. Find pesl comant in B bulb
iiEA 2 du6d A [A13ZA 412 A

aAns. (2

=l F o= 1l|—r| I'.rrl
100 = 2210 1

14, A block ol mass 1 ki, moving along =-3xis witl spead v = 10 A0S enlsrs & roogh Megon 1anging hom x =
01 1o E = 1.9 e The relanding larce acling on he Bck i mis ransgs & -F- o= = K b owdih K= 10 M
Then the lina speed ol Ba block as it crossas sough region is
115 B mis 12h B 'mis (3} 10 ms (d} & s
ans. (1)
2ol m=1kg
F ==k
F == 10x
ma == 10
aw—10%
s 10 mis ve?
e

CERT TS TSI ITTTIT LIS TS T

k=07 m £=18m

=i S -m:i

I_E_Iln LE.I'_-1

¥~ 100 = — 10]1.8° - 0.1
W om B

W o= B s
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15. A capadilor ol capacilance 100 PF & charged wilh a baltery o woltage 50 vall 1 i dEcomecied & e
brafiery aod i B connecied wilth & second capacio which &= inilialy uncharged. Il ihe final palarial on
e second capacilorn is 20 voll, then the capaciiance ol the second capaciios will b -

11} 100 PF 121200 PF {3} 300 PF (4} 50 PF
&ns (2
Sl Y, LIRS
&+ Ly
(100P 160} IC, ¥0 )

(100 )- & =20 e 100 4 20 Cz = G000 — Ty = 200

16. The pressure ol an ideal gag s nosased by DA% eepng e wailume consland. Find he intial
tamperature ol the gas il thes is & 1°0 rige in lemperalure.;
M) 250 K f2h 259 (3] 2500k {4} 2300°C

An=s. (1)

Sl Py = 0l AT

ap - A
T

04 1

[ _I'i.

100 T
_ 100

0.
T = 250 K.

17.  Statement-1: kan O-F and He |, projected perpendicular (o unilanm magnetic eld with same momentum
than radiug ol curvalure of path O & less @an He .
Statement-2: Prolon and eleciron mojecled perpendicudar to wilorm magnetic lield wilh same
rcnmentum han radus of curvalure of path peolon is kess than eleciron |,
i) BHaderment-1 is True, Stabemmant-2 is Tros
120 Elatemenl-1 ig Toue, Slalamant-2 ® False

13y Sadeineni-1 s Fales, Slsemenl-2 is Falas
1) Slatemanl-1 is Falss, Satemeni-2 is Tiue

aAns. {2}
Sal  roDt = o
aB q
1 =gz =3 Hi« Ha

Slalement-1 is Irue.  Ans.
Slatement-2islalse Qi=gs > Ri=Ha.
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18. T Balbary [mo= 20k W 1W) and (e = 10, W = 2% are comecled wilh axtamal eesislanca (K = ), firs

it saries comitination (), second in paratiel combination (i), i1 L - g = vl of x will be.
I=

aAns. .00
Sal. 1Ay SETies Fa =3
rp.:-s
he+H a+E 4
Tulirde=2 i
hh parabesl oo - —m—— - =
s = 7 2
e
Fag m =
&
I 543 ___5:-53 ) : |
T2 g Bx(2:18) 4
3
_IJ--t“‘-i =
iy Jd=1 3
14. Hiy he
=]
Ay o= Ay o- @
Fiz = 8
h,—-ﬂ-
work done By gravily when level of waler become Sams.
TR [ o W ST [ (32w 1H . {41 5w 104
An=.  {3)
e
Zal. e _T-—I-T_ 8
8 |
W= migh
Tt 3w W
R [ R

Wae2ailPe 1«10
We2eifd ARg
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2. Find oul magniiude of work done in e proosss KRRCTH [ Kad) (1 atme L8 = 1083 .0)
Plalbmipe

L 3
L]
i
d
)01 g2 (3} 0.3 (4] 0.4
Ans.  {3)
Sol.  Work done = Area under (he curve = Wae + Wac + Weo
Wi = 0= Wi, Wae =3 « 1000 « 106 « $05= 0.3 « 109 = D5 K4

"

(B

» V(e

21. Baohr modal
Statement-1 : Balr's modal asplicatte anly lar H-like species
Stalemeni-2 ¢ I & des o sscion-repuision alkac
{1} Statermenit-1 s True, Stalement-2 & True, Stalament-2 i a comec] expianaton lar Stalemend-1.
12y Hlatesmant-1 ig Toue, Statemant-2 i True; Stalament-2 is NOT & covect explanation for Stabarmand-1
o) Eralemenl-1 18 Troe, Stalemeant-2 & False
14y Elatemen-1 19 Fales, Sralemen|-2 s Tous
Ans. {1}
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PART : CHEMISTR

L Arnongs the folowing select the compounds which acts as primary standard:
{1} Fe50u. TH=0

) K=Cr0n

(I} Ma; Byl 10H -0

(1 NaoH

1) MO0

113 1, (210, W, (3341, B (dy L 10
1)

Theorybased

£

2 Match the following family with comesponding element

Ciobusvun-] Colurmin-i
{A) Chalcogen famby i Ts
{E) Mobée gas (i) L
{C] Halogen family () MC
1 Pincoogen family W) g
Comect answer (s |
(1) 8 & &), B i O ], D [ (258 w (1B i), O n [iRY, B o [l
1318 - o M), B @ (b n qll), O -a 1] Gl cm LD, B {0}, © a L], O -® [HY
aAns.  {1)
sol. Theorybased
3 Arnangs Sc, Min, Co & Cu element showing highest enthalpy of atomisation have In +2 cxdabon state
Spin oniy rmagnetic moment value :
111 /3 BM |2y B BM (3) J15BM 4] J24BM
ans.  (3)
Sol. o= s LArkde 40 =31
+15 BM
a, Mg +HCI
in this reacton t obtan 220 miL of H: at NTF, determing mass of Mg used (Mg =24) !
L0235 g (Zy 7354 30112 g () 112 g
Ans. (1)
Sol. Mg +ZHO »MgCl: + H:
i ma < micl
L20H] i LI

. |
Mass af Mg o 24=0235qg
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5 For Amhenious equation K - E%mﬁMHMFQMEMWEME
EMpeRture RNoe.

{a) Both E. and A are temperatune dependent

lD?MEHEﬂLEHFE’EI’D.HEfEnETEﬂLIEﬂ:E‘EIELEH become fast

IC} Ex depends on Tempensture and A indepandant of temperatie

{d) Both Ex and A are indepandent of ternpersh e

1) &, b only (2) b, C anly (3 b, d only (43 2 only

{3

For a particular temperatune range both E. and A remiain constant.

F'IIE,'_IE

Salect comect option for B famity eements:
N r:B=hl <Ga<in<T/

(W IE : B =T =Ga =Al =In

miyd:B=Al =Ga <in =T/

{NIEN 1 B = Al =Ga >in =T/

{10, m 2H, W 3}, M [}, 1V
{1}

Theory Based

3

7. 1.4 gram of onganic compound s heated with U0 N a 002 atmosphene at 300 K, the voume of Nz gas
cotlected over HaO, is B0 mil. If agueows tension = 15 mm of Hg at 300 K and pressure recoeded s 715
mimof Hg then percentsge of nitrogen in omanic compound = | rearest nbeger
(16}
Pressure of N:(g} =(715 -15) =700 ma of Hg

700 60«10
h "_?ﬁn 0.0BZ1< 300

=2 3 #1002 ke
Mass of Nx =(2.24 =107 » 28) gam
_,unﬁzrz,
| =100

£ 3

%% af My = =1568

B Cotton 3kes more tmes to dry than nylon because of

(1] H-bonding n catton

121 abEence of H-ondng in cotion

{31 absence of H-bonding in cotton and s hydrophobic natunes
{4} hydmophobac nature of Cotton

(1)

Theory based

£y
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L 8

- g 3

£ 7

£ g

Foern foliowing P - W graph

kT e e e
P {atm)
| :
i (!
1000 2000 V|omw
Tol! magnitde of work done is | {Mearest intager]
{Take 1atm x|t =100] |
300
W=PaAYV
== 3 x1000 % 102
=- 3 atom =it
=300
Arniongs the folosing select the specie which & diamagnetic and octahedral,
{1} [Co(MHg] (2] {MnlCN - (3} [FeFsf-
1)

o e with strong Fedd ligand (CH =6] Is dizmagnetic and octahedral

{4} [NHH=0eF+

i bamb calodmeter 114 gram of n-octane on complete combustion show 55C increment in temperabre

then enthalpy of combustion 1S &} frnod,
{Gwen: T =5 k| fmmol 2K
{13)

Cathd 7] + E;ﬂ: (g} - » BODg) +9H,0{1)

'8 =

m] 114
Combustion = | = | Catb = = x5 x5 =075 K]

AH =AU +AngAT =025 - 5.5 x8.314 =10~ =298 =025 - 13.626 =- 1337 kK

Which set of quanium nurber is not possibie?

f 4 (| s
! 1 ;
3 0 o p (2}
2
T . 1
3 3 2 3 +ie )
(3)
Value of m s from - ¢ o =

i

.I.
Pt it i
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